

**Vendor Ranking** 

Page 1 of 1

**Letting:** 06221006 October 06, 2022 11:00AM **Call Order:** 003 **Contract:** E6O40-R0

District: District 6 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45108817201 (\*)

Contract Desc: DISTRICTWIDE WILDFLOWER INSTALLATION - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AIRBOAT ADDICTS, INC.	Responsive	Winning bid	\$142,737.78	100.00%
2	BELLA FIORE LANDSCAPING LLC	Responsive	Non-Winning Bid	\$272,717.04	191.06%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



10/07/2022

#### **Tabulation of Bids**

**Letting:** 06221006 October 06, 2022 **Call Order:** 003 **Contract:** E6O40-R0

District: District 6 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 45108817201 (\*)

Contract Descr: DISTRICTWIDE WILDFLOWER INSTALLATION - ROUTINE MAINTENANCE

Electronic bids are requested for a Business Development Initiative (BDI), Budgetary Ceiling contract to provide labor, equipment, materials, tools, transportation, and incidentals required to prepare, plant, and maintain various wildflower areas throughout Miami-Dade and Monroe Counties. Wildflower seed will be provided by the Department and maps will accompany the Work Document issued. Sample work locations are included in Appendix A.

The specific composition of herbicides and fertilizers referenced within the Contract Documents are to be determined by the Contractor based on industry best practices and are subject to review by the Department. The summary of pay items for this project is listed in the Bid Price Proposal.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each item to be bid. The Department's estimated quantities and the Contractors' bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will based on actual quantities completed. For this Contract in which specific site are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to accomplished, and the number calendar days to complete the work.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT.

Small business size standards can be found at: https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/egualopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or

Page 1 of 4

<sup>\*\*\*\*</sup>Award will be made at the Budgetary Ceiling amount of \$150,000.00.





## **Tabulation of Bids**

Page 2 of 4

Letting: 06221006 October 06, 2022

Call Order: 003

Contract: E6O40-R0

Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Visit www.bidx.com for more information.

Line No / Item ID Alternate	Quantity Units			(2) BELLA FIORE LANDSCAPING LLC			
( ) indicates item is bid as Lump Sum	<b></b>	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(WILDFLOWER	RS (AC					
0005 0700 1 40 SINGLE POST SIGN, INSTALL	60.000 AS	120.00000	7,200.00	147.00000	8,820.00		
0010 E107 1 1 LITTER REMOVAL	193.270 AC	150.00000	28,990.50	67.00000	12,949.09		
0015 E107 2 1 MOWING (LARGE MACHINE)	35.140 AC	590.00000	20,732.60	135.00000	4,743.90		
0020 E107 2 4 MOWING (SMALL MACHINE)	58.590 AC	300.00000	17,577.00	127.00000	7,440.93		
0025 E107 2 5 WEED CONTROL, MANUAL	17.570 AC	320.00000	5,622.40	5,727.00000	100,623.39		
0030 E570 9 1 WATER FOR GRASS & PLANTS	190.000 MG	5.00000	950.00	14.77000	2,806.30		
0035 E580 4 1 WILDFLOWER SEED INSTALLATIO	17.570 N AC	905.00000	15,900.85	1,000.00000	17,570.00		
0040 E580173 BED PREPARATION & MULCHING	85,039.000 SY	0.37000	31,464.43	1.37000	116,503.43		



# 10/07/2022

# **Tabulation of Bids**

Page 3 of 4

Lettin	<b>ng:</b> 06221006	October 06, 20	)22 <b>Ca</b> l	II Order: 003		Contract:	E6O40-R0	
Line No / Item ID Alternate		rnate Quantity Units	(1) AIRBOAT ADDICTS, INC.		(2) BELLA FIORE LANDSCAPING LLC			
	ndicates item is bid as Lump		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (WILDFLOWERS (AC							
0045 HERBI	E580337 2 CIDE (STRIP APPLICATI	1.000 ON) AC	2,500.00000	2,500.00	680.00000	680.00		
0050 HERBIO SF)	E580337 3 CIDE (SPOT APPLICATION	200.000 ON < 100 SF	59.00000	11,800.00	2.90000	580.00		
(	0001 WILDFLOWERS (A	C) Section Totals:		\$142,737.78		\$272,717.04		
	Contra	ct Grand Totals:		\$142,737.78		\$272,717.04		



10/07/2022

**Tabulation of Bids** 

Page 4 of 4

**Letting:** 06221006 October 06, 2022 **Call Order:** 003 **Contract:** E6O40-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.